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1. Onuc HAaBYAJIBLHOI AMCHUILTIHA

Mera IIpakTyHe BOIOAIHHA iHO3eMHOIO0 MOBOIO
Kommnerentricts | s 101 «Exonoris» K02 3aaTHICTH CHIIKYBaTHUCA 1HO3EMHOIO MOBOIO.
Jis 183 «T3HCy» KO3 3natHicTh CHUIKYBAaTUCS 1HO3€MHOIO MOBOIO.
PesynbTar Hnsa 101 «Ekomoris» P021  VYMitu uuratu Ta po3ymiTH (DaxoBy IHIIOMOBHY
HaBYaHHS JiTeparypy ;nepeknanatu (paxoBy JiTepaTypy 3 1HO3EMHOI Ha piHY MOBY Ta

HaBITAKHW; MPOBOJUTH YCHUM OOMIH 1H(pOpMAIIi€r0, HEOOX1THOO ISl BUPIIIICHHS
3aB/IaHb MPO(]eciifHOT AiSUTHHOCTI.

I 183 «T3HC» ITP02 BmiTu aHaIiTUYHO ONparibOBYyBaTH 1HIIIOMOBHI JpKepena
3 METOK OTpuMaHHS iHdopmamii, O HeoOXimHA JJs  PO3B’SI3aHHS
PUPOJIOOXOPOHHUX 3aBJIaHb.

Ba3osi 3HaHHA

VYci BUay apTUKIIIB Ta 3ailMEHHHKIB, MHOKUHA IMEHHUKIB, CTYIEHI MOPiBHSIHHS
MPUKMETHHKIB Ta MPUCTIBHUKIB, TUIIH MUTaHb, YaCOBI (JOPMU aKTUBHOT'O CTaHY,
Y3TO/DKEHHST YaciB IIMCHOTO crocoOy, MacHMBHHUW CTaH, MOJAJbHI Ji€CIIOBa,
Heoco0o0Bi (hopmu aieciioBa

Ba3oBi BMiHHA

1. Benenns Oecinu, JOMOBiAI Ha OCHOBI THUIIOBUX CHUTYalllil JdiJIOBOTO
CIUIKYBaHHS 3 BUKOPUCTAHHSIM BUIICHA3BAHUX JICKCUKO-TPAMATHYHUX SIBHIIL.

2. BukopucraHHs MiJ Yac MOBJIEHHS Ta Yy NUCBMOBiN (opmi croeriaabHOT
JICKCHKH YpOKiB 1-4

ba3oBi HaBHUYKH

1. KopucryBaHHs CJIOBHUKAMH Ta JIOBIIKOBOIO JIITEPATYPOIO
2. llIBunkuii MOIIYK y APYKOBAHUX JDKepenax Ta mepexi Internet indopmarii 3a
CIICIIAbHICTIO Ta KPAa{HO3HABYOI'O XapaKTepy

[ToB’si3ani
cuabycu

Inozemna moBa (I-VI cemectpu)

Ilonepeons
UCLUAIUIIHA

Hacmynna

KinpkicTh
rOINH

[TpaxTuuni 3anatta : VI cem.-30;
Camocriiina po6ora crynenTi: VII cem.-30
VIl cem.
«ExkoJioris»: npaktudHi 3aHATTA-18;
caMmocTiiiHa po0oTa CTyAEHTIB-42;
«T3HC»: npaktuuni 3ausaTT-20;
camocTiiiHa poboTa cTyaeHTiB- 40

2.1 Mporpama naBuaabHoi gucuumiinm (VI cemectp)

KiabkicTh ] .
Kona Ha3zBa KinbkicTh
AYIUTOP-HUX
Monyas MOAYJH Ta TEMH Y P roqun CPC
rOJIUH
Grammar: Articles, Numeral, Personal 2
Pronouns,Possessives pronouns 2
3M-II1 L. . .
Text «Sustaining life on earth system through clean air,
pure water and fertile soil».-mepexan




Grammar:,Reflexive Pronouns, ,Demonstrative
Pronouns 2 2
Text «Text «Sustaining life on earth system through
clean air, pure water and fertile soil»-nepekas

Grammar: Interrogative Pronouns, Defining Pronouns

Text «Studying environmental science: what is it like 2 2
and where can it take you?»-niepexia.

JlomallrHe YuTaHHS 2 2
Grammar: Negative Pronouns,Reciprocal 1 1

Pronouns,Quantitative Pronouns
Text «Studying environmental science: what is it like
and where can it take you?»-mepekas.

[TuceMoBe TectyBanHs Ne | 1 1
Grammar : Comparative and Superlative Degrees of
Adjectives 5 5
Text «Environmental Management Systemsy-
MCPCKIIa.
Grammar: Comparative and Superlative Degrees of 2 2
Adverbs
Text «Environmental Management Systems»-niepekas
Text «What is environmental management?»-niepexiar,
repekas. 2 2
Grammar: Present, Past and Future Indefinite; when, if
Text «Environmental pollution» -niepekan, nepexas 2 2
Grammar: Present, Past and Future Continuous
Text «Global warming»- nepexas 2 2
Grammar: Present, Past and Future Perfect 5 5
Text « Global warming»- nepexnan

3M-I12 |Grammar: Perfect Continuous Tenses 1 1
Text « Marine watersy»- nepeka.
/ToMaliHe yuTaHHS 1 1
Grammar: Present in the Past 5 2

Text «Marine waters»- nepekas.

Grammar: Sequence of tenses
Text «Dying forest: one year to save the Amazony- 2 2
NCPCKIIad, KOPOTKEC PE3IOMCE, OGFOBOpeHHH.

[TnceMoBe TectyBaHHs Ne 2 1 1
CemecTpoBa 3allikoBa KOHTPOJIbHA poOoTa 1 1
PA30OM 30 30

KoncyabTamii:

Buknanau Kynenina Onsra FOpiiBHa, cepena, 12:45 — 14:20 , ayn.612




2.2 CamocTiiiHa po00Ta CTyJIeHTa Ta KOHTPOJIbHI 3aX01H

Koxa 3aBaannst Ha CPC Ta KOHTPOJIbHI 3aX011 KinpkicTh Ne TakHA
Monys I'opun
3M-I11 » IliaroToBka Jio yCHOTO OIUTYBAaHHS 13 1-7
» TlucbMoBe TecTyBaHHs 1(000B’SI3KOBE) 1 5}
» [IlinrotoBka /O  TEPEBIPKH  JOMAIIHLOTO 2 3
YUTAHHS
3M-I12 » IliaroToBka Jio yCHOTO OIUTYBAaHHS 11 8-14
» TlucbMoBe TecTyBaHHS 2(000B’SI3KOBE) 1 15
» IligrotoBka J10 TEPEBIPKH  JOMAIIHLOTO 1 12
YUTAHHS
[TinroroBka A0 3aJ1iIKOBOT CEMECTPOBOI KOHTPOJIBHOT POOOTH 1 15
PA3OM 30

Ouinrweanna KOHmpoJabHUX 3axo00ie o1sa 3M-I111

-- 1. a) ycHe onuTyBaHHs ( IEpeKIIaa Ta mepekas TeKcTiB) — 12 danis
MaKCHUMAJIbHO;
0) yCHE ONUTYBaHHS (JIOMAIIHE YUTAHHs) —4 Oai MaKCUMAaJIbHO;
B) MUCHMOBI BrpaBu — 10 GaiB MaKCUMAaJIbHO;
--2. [Iucemone TectyBanHs Ne 1 — 50 6aniB MmakcumaabHO (000B’I3KOBE)

Ouinrweanna KOHmpoabHUX 3ax00i6 01 3IM-112

--1. a) ycHe onuTyBaHHs (TMIEPEKIIa]] Ta IepeKas TEKCTIB) — 12 OariB
MaKCHUMAJIbHO;

0) yCHEe ONUTYBaHHS (JOMAIIHE YUTAHHS) —4 Oad MaKCUMAaJbHO;

B) NUCbMOBI BrpaBu — 10 GaniB MakCUMaNbHO;
--2. ITucemoBe TectyBanHs Ne 2 — 50 OaniB MakcuMaabHO (0OOB’SI3KOBE)

CemecTpoBa 3alikoBa KOHTposbHa poooTa — 100 6aniB MakCUMaIbHO
(000B’s13k0Ba)

Cywma OaiiB, sIKi OTpUMaB CTYACHT 3a JBOMa 3MICTOBHUMH Moayssimu VI
cemecTpy, GOpMYIOTh KUIbKICHY OLIIHKY (6an ycmimHocTi). PesynpraTtu
MOTOYHOTO KOHTPOJIIO 3aHOCATHCS JI0 IHTETPATBHOI BiJOMOCTI.

CTyneHT BBaXa€TbCsl JOMYIIEHUMM JO IiJCYMKOBOTO CEMECTPOBOTO
KOHTPOJIFO, SKIIO BiH BHUKOHAaB BCl BUIM pOOIT, mepemdadeHi poOOUOoro
HABYAJIBHOIO MPOTPaMOI0 TMCUHUILIIHU 1 HA0paB 3a MOAYJIBHOIO CUCTEMOIO CyMY




OaniB He MeHmie 50% Bi MaKCMMAaJIbHO MOXIIMBOI 3a MPakTUUHy YacThHy (50
OauiB).

[1icyMKOBUM KOHTPOJIEM 3HAHB CTYJICHTIB € 3aJiK.

CryneHT oTpMMYy€ 3ajiK, KOJU BIH Ma€ Ha OCTaHHIA JEHb CEMECTpY
IHTEerpaJibHy cyMy OajiiB OTOYHOTO KOHTPOII0, AocTaTHIO (60% Ta Oinblie) Asis
OTPUMAaHHS MO3UTHUBHOI OIiHKH (60 GamiB).

B saxocti GopMH MOTOYHOTO KOHTPOIIO MPAKTUYHUX MOAYJIIB — YCHE
ONUTYBaHHS, MUCHMOBI BIpPaBH, MUCHMOBI TecTyBaHHS 1,2 (000B’si3ko0Bi). B
SKOCT1 ()OPMU TT1ACYMKOBOTO KOHTPOJIIIO CEMECTPOBa 3ajikoBa poOoTa.

Sxmo cyma 6aniB, Ky HaOpaB CTYACHT 3a pe3yjbTaTaMH T€CTyBaHb 1, 2,
MeHma S50 OaniB, CTYJIEHT Ma€ MpaBO MIJBUIIUTH CyMy OaliB 3a paxyHOK
HE0OOB I3KOBUX BUJIB POOOTH, SIK1 OI[IHIOIOTHCSI HACTYITHUM YUHOM:

1) PobGora 3 TekcTamMu
- YCHUH TIepeKyiaj TeKCTy -1 Oai;
- mepekas Tekcry — 1 6ai;
- CIIMCOK HE3HAHOMUX CJIIB Ta BHUPA3iB 3 MEPEKIAIOM YKPaAiHCHKOIO MOBOIO
— 1 Gan
- MUCBMOBE pe3loMe TeKCTy — 1 Oan
VYcboro 3a OIMH TEKCT MaKCUMAaJILHO 4 Oatu.
3M- II1 mictute Tekctu: ypok I tekctu A, B. C, T00TO MakcuMmalibHa
OI[IHKA 3a TEKCTH — 12 OaiB.
3M — II2 wmictute 3 Ttekctu: ypok II Tekctm A, B, C, T00TO
MaKCHMaJIbHa OIlIHKa 32 TeKCTH — 12 OatiB.
Ycboro 3a cemectp — 24 Ganu.
2) TlncbMOBe BUKOHAHHS IPaMaTHYHUX BIPaB — 1 0aj1 3a KOXKHY BIIPaBy.
st 3M — I11 — 10 6anis; s 3M — 112 - 10 GariB.
Ycebporo 3a cemecTp MakcumanbHO 20 OaiB.
3) 3aBmaHHs 3 JOMAIIHHOTO YUTAHHS OILIHIOETHCS HACTYITHUM YHHOM:
1 Oan — nepekyaj 3 aHrIHCbKOT MOBU YKPaiHCHKOIO;
1 6an — HasABHICTh CIMCKY HE3HAMOMHUX CIIIB T BUPA3iB y KUIBKOCTI HE
menie 100;
1 6an — KOpPOTKE YCHE pPE3IOME 3MICTY TEKCTY aHIJIIHCHKOIO MOBOIO
o0csarom 7-8 peyeHs;
1 6anm — TUCEMOBE pe3tOME aHTIIINMCHEKOK MOBOIO.
MaxkcuMainbHa oriHka - 4 6amu mist 3M — 111 ta 4 6anu ms 3M — 112,
T00TO 8 OamB 3a cemMecTp.
OO6csr crarti (abo nekinbkox ) — 20 tuc. ap. 3H. 3a VII cemectp.



[aTerpanpHa omiaka (B) mo qucturiiai po3paxoByeThes 3a GOPMYIIO0
B=0,75x 03+ 0,25 x O3KP,

ne O3 — xinmpkicHa oOmiHKa (y BIACOTKax BiJ MaKCHUMaJIbHO MOJKIIMBOI) 3a
3MICTOBHUMH MOJTYJISIMU;
O3KP — kinbkicHa oIiHKa (y BIJCOTKaxX BIJI MaKCUMaJIbHO MOKJIMBOI)
3J1IKOBOT KOHTPOJIBHOT POOOTH.

IIutanHss [0 3ax0AiB MOTOYHOIO Ta MiJICYMKOBOIO CeMeCTPOBOIO
KOHTPOJII0

ITucemoBi Tect 1o 3M-I11 — 3M-I12 cknamarorecst 3 30 MUTaHb KOXKHUIA.
KoxHa mpaBuibHa BIANOBIAL OLIHIOETHCA y 1,7 Oama jis NHCbMOBOTO
tectyBaHHs Nel Tay 1,7 Oanma i1 TUCbMOBOTO TeCTyBaHHS Ne2.

CemecTpoBa 3aj1ikOBa KOHTPOJIbHA POOOTA CKIAAAETHCA 3 25 NMUTAHb.
KosxHa npaBuibHa BIAMOBIIb OIIHIOETHCA Y 4 Oanu.
CemecTpoBa 3aikoBa KOHTPOJIbHa po0OTa Mae OyTH BHKOHAaHA HE MEHIII,
HiK Ha 50%.

2.3. IIporpama HaBuyaabHoi aucuuiIinm «Exosaoris» (VIII

ceMecTp)
;C/IOH Hazga Kiabkicts | KiabkicTn
on MOXYJNS Ta TeMH ayauTop- TOJIMH
Yyias HUX FOANH CPC
Grammar: Conditionals (I, 1, Il types), "Zero Conditional® 2 2

Text «International framework for environmental
solutionsy-niepekia, KOpOTKe pe3roMe

Grammar:Subjunctive Mood, Suppositional Mood, | wish 2 2
Text «Microbial bioremediation»-niepekia, KOpoTKe
[pe3rome

3M- [Grammar: Modal verbs 2 2

Text «Genetic strategies for advancing phytoremediation

I13 A
potential in plants»-niepekian, KOpoTke pe3rome
Grammar: Passive Voice 2 1
JlomarrHe ynTaHHS 2
[IuceMoBe TecTyBaHHs Ne 3 1




Grammar: Active Infinitive, Passive Infinitive 2 1
Text «Environmental science careers»- nmepekiai

I[OMaI_HH€ YUTaHHA 1
Grammar: Present and Perfect Participle (Active and 2 2
Passive)

Text «Environmental science careers»- nmepekas

Grammar: Gerund 2 2

Text«What does an environmental scientist do?»-
IICPCKIIA, IICPCKaA3

3M- [Grammar: Participle; Complex Object, Complex Subject 2 1
14 |Text « How do I get an environmental science degree?»-
[epeKIal, 00rOBOpEHHs 3
ITuceMoBe TecTyBaHHs Ne 4
[HaMBiNyaIbHUN TIEPEKIIa]] CYCHTBbHO- TOJITUYHOTO TEKCTY 2 2
PA3OM 18 22
Koncyabranmii:

Buxknanau Kynenina Onsra FOpiiBHa, cepena, 12:45 — 14:20 , ayn.612

2.4 CamocrTiiiHa po00oTa CTyJA€HTa Ta KOHTPOJIbHI 3aX011

Kox 3aBaanns Ha CPC ta koHTpoJbHI 3ax0au | KiibKicTh Ne THKHSA
Monyst I'oguu
3M-I13 [linroToBKa /10 YCHOTO OMUTYBaHHSI 10 1,2,3,45
[TucemoBe TectyBanHs 3 (000B’SI3KOBE)
[TinroroBKa /10 MEPEBIPKU JOMAITHBOTO 4
JUTAHHS 1
4
3M-I14 [TinroToBKa 10 YCHOTO OMTMTYBAHHS 10 6,7,8,9
[TucemoBe TecTyBaHHA 4 (000B’SI3KOBE)
[linroToBKa 10 1HAWBIAYaTLHOTO 8
MepeKIany 1
9
IlinroroBka 10 icnurty 20
PA3OM 42




2.5. Iporpama napyaabHoi AucuumIina «T3HC» (VI cemectp)

;(/IOH Hasga Kinbkicts | Kinbkicrn
o MOAYJSI TAa TEMH aynuTop- LU
yas HMX I'OJUH CPC
Grammar: Conditionals (I, I, Il types), "Zero Conditional® 2 2

Text «International framework for environmental
solutionsy-miepekia, KOpOTKe pe3roMe

Grammar:Subjunctive Mood, Suppositional Mood, | wish 2 2
Text «Microbial bioremediation»-nepekiam, KOpOTKe

[pe3rOMe

Grammar: Modal verbs 2 2

Text «Genetic strategies for advancing phytoremediation
3M- [potential in plants»-nepexnazn

13 Grammar: Passive Voice 2 2
Text «Genetic strategies for advancing phytoremediation
potential in plants»-niepekas, KOpoTke pe3rome
JloMarntHe yuTaHHS 1
[TucemoBe TecTyBanHs Ne 3 2 1
Grammar: Active Infinitive, Passive Infinitive 2 1
Text «Environmental science careers»- nepexian
I[OMaI_HH€ YUTAHHA 1
Grammar: Present and Perfect Participle (Active and 2 2
Passive)
Text «Environmental science careers»- nepekas
Grammar: Gerund 2 2
Text«What does an environmental scientist do?»-

3M- TICPpCKIIaa, ICPCKas3

14 |Grammar: Participle; Complex Object, Complex Subject 2 1
Text « How do | get an environmental science degree?»-
repeksiaz, 00roBOpeHHs 1
ITucemoBe TecTyBanHs Ne 4
[HMBIyaIbHUH epeKIIaj CyCIiIbHO- MOJITHYHOTO TEKCTY 2 2




PA30OM 20 20

Koncyabranmii:
Buknanau Kynenina Onsra FOpiiBHa, cepena, 12:45 — 14:20 , ayn.612

2.6. CamocriiiHa po0oTa CTyJIeHTa Ta KOHTPOJIbHI 3aX0A1

Kon 3aBaannsa Ha CPC ta konTposbHi 3ax0au | KinbkicTh Ne THkHA
Monyst I'ogun
3M-I13 [linroToBKa /10 yCHOTO OMUTYBaHHSI 8 1,2,3,45
[TucebmoBe TectyBanHs 3 (000B’s13K0BE) | 1 5
[TinroToBKa /10 MEPEBIPKHU JOMAITHHOTO
YUTAaHHS 1 5
3M-I14 [TinroToBKa 10 YCHOTO OMIMTYBAHHS 6 6,7,8,9
[TinroroBka 10 mepeBipku AOMamHboro | 1 6
YUTAHHS
[TucemoBe TectyBanHs 4 (000B’s13k0Be) | 1 9
[linroToBKa 10 1HAWBIAYaTIBHOTO 1 10
nepeKIIany
IliaroroBka 10 icnury 20
PA3OM 40

Ouinrweanns KOHmpoabHUX 3axo0ie o01sa 3M-113

-- 1. a) ycHe onuTyBaHHS ( IEpeKyIaja Ta epeKas TeKcTiB) — 16 6anis
MaKCHUMAaJIbHO;
0) yCHe onmUTyBaHHS (TOMAITHE YUTAHHS) —4 Oa MaKCUMAJIbHO;
B) MTUCHMOBI BripaBu — 10 GaiB MaKCUMAaJIbHO;
--2. ITlucemone TectyBanHs Ne 1 — 50 GaniB MakcuMaabHO (000B’A3KOBE)

Ouinrweanns KOHmpoabHuX 3axo0ie oaa 3IM-I114
--1. a) ycHe onuTyBaHH4 (MepekiIaja Ta MepeKas TeKCTiB) — 12 Oari

MaKCHUMAJIbHO;
0) yCHEe ONMUTYBaHHS (JOMAIIHE YUTAHHS) —4 Oa MakCUMAaJbHO;

10




B) MUCHMOBI BrpaBu — 10 6aiB MaKCUMaJIbHO;
--2. IlucemoBe TectyBaHHs Ne 2 — 50 GaniB MakcuMaibHO (000B’3KOBE)

Cywma 6aitiB, sIK1 OTpUMAB CTYIECHT 3a ABOMa 3MICTOBHUMHU MoayJisiMu V111
cemecTpy, GOpMYIOTh KITBKICHY OIIHKY (0ai ycminmHocTi). Pesynpratn
MOTOYHOTO KOHTPOJIIO 3aHOCATHCSA 70 IHTETPATbHOI BITOMOCTI.

[TincyMKOBHM KOHTPOJIEM 3HAHb CTYACHTIB € iCIUT.

CTy/leHT BBAKAETHCS JONMYIIEHUM 0 iCIUTY, KOJIM BiH BUKOHAB YC1 BUIH
po0iT, mepeadaueHi cuiiadycoM HaBYAJIBHOI AMCIUILIIHM, Ta MA€ HAa OCTAHHIN
JIeHb CEMECTPY IHTerpajibHy CyMmy OalliB MMOTOYHOTO KOHTpPOJIt0, nocTaTHio (50
Ta OUIBINE) JAJIT OTPUMAHHS TTO3UTUBHOI OIIIHKHU.

B skxocti ¢opMH MOTOYHOTO KOHTPOJIIO MPAKTUYHHX MOJYIIB — YCHE
ONUTYBaHHsI, MMCbMOBI BIIPaBH, MUCHMOBI TeCTyBaHHS 3,4 (000B’SI3KOBI).

Sxmo cyma 6aniB, sIKy HaOpaB CTYAEHT 3a pe3yibTaTaMu TECTyBaHb 3, 4,
MeHma S50 OanmiB, CTYJIEHT Ma€ MpaBO IMIJBUIIUTH CyMy OaliB 3a paxyHOK
HEO0OOB’ I3KOBUX BUJIIB POOOTH, SIK1 OL[IHIOIOTHCS HACTYITHUM YUHOM:

4) Pobora 3 TekcTaMu

- YCHUI miepekyiaj Tekcty -1 6ai;

- mepekas Tekcry — 1 6a;

- CIIUCOK HE3HAHOMUX CJIIB Ta BHUPA3iB 3 MEPEKIAIOM YKPAiHCHKOIO MOBOIO

— 1 Gan
- MUCHMOBE pe3toMe TeKcTy — 1 Oai
Ycboro 3a oMH TEKCT MaKCUMAaIIbHO 4 Oaii.
3M- TII3 wmictutre 4 tekctu: ypok III texetu A, B. C, D, t0o6TO
MaKCHMaJIbHa OIlIHKA 3a TeKCTU — 16 OaiB.
3M — TI4 wmictute 3 Ttekctu: ypok IV texkerm A, B, C, T0o0TO
MaKCHMaJIbHa OIlIHKA 3a TeKCTH — 12 OatiB.
Ycboro 3a cemectp — 28 OaiB.
5) IMuceMoBe BUKOHAHHS rpaMaTHYHUX BIIpaB — 1 0aj1 3a KOKHY BIIPaBY.
Hns 3M — 113 — 10 6ams; mrs 3M — 114 - 10 6amis.
¥Yceboro 3a cemecTp MakcumaibHO 20 OaiB.
6) 3aBaaHHS 3 JOMAIIHLOTO YUTAHHS OI[IHIOETHCS HACTYITHUM YHHOM:
1 6an — nepekiaj 3 aHTiHChKOI MOBH YKPaiHCHKOIO;
1 6an — HasABHICTh CIMCKY HE3HAMOMHUX CIIIB T BUPA3iB y KUIBKOCTI HE
Mente 100;
1 Ganm — KOPOTKE YCHE PE3IOME 3MICTy TEKCTY aHTJIIHCHKOI MOBOIO
o0csrom 7-8 peueHs;
1 Gan — MUCHhMOBE PE3IOME aHTIIHCHKOI0 MOBOIO.
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MakcuMmanbHa o1iHka - 4 6amu misg 3M — 113 ta 4 6anu mig 3M — 114,
T0OTO 8 OamiB 3a cemecTp.
OO6csr crarTi (abo nexipkox ) — 20 Tuc. Ap. 3H. 3a VIII cemectp.

[HTETpanBHA OIlIHKA IO MUCIUILIIHI PO3PAXOBYETHCS K CEPEAHE apr(PMETHIHE
OIIIHKM 3a 3MICTOBHI MOJIyJI1 Ta TUCbMOBUH 1CITHT.

IlutanHsa 70 3axoAiB MOTOYHOI0 Ta MiACYMKOBOIO CeMeCTPOBOIO
KOHTPOJII0

ITucemoBi Tectu 10 3M-I13 — 3M-I14 cxknamarorecst 3 30 MUTaHb KOYKHUM.

Koxna mnpaBuiibHa BIJINOBIJIb OILIHIOETHCA y 1,7 Oana sk MHUCHMOBOTO

tectyBaHHd Ne3 Tta y 1,7 Oama  jmns mucbMoBOro TecTyBaHHS Ned.

MaxkcumainbHa orinka — 50 6aiiB 3a KOKHY TECTOBY poOOTY.

ITucbmoBMM icIUT CKJIaJa€TbCA 3 3 yacTHH.

I yactuna (rpamatuuHa) ckiagaeThes 3 S0 mUTaHb y TECTOBIN PopMi, KOXKHA
IpaBUJIbHA BIANOBIAb OIIHIOETbCA B 1 Oasl, TOOTO MakCUMaJlbHO MOKJIMBA
KUIBKICTB OalliB 3a 110 YaCTUHY J0piBHIOE 50-1.

Il yactTuHa (3HAHHS JIEKCHKM 3a CHELIAJIbHICTIO Ta 11 BUKOPUCTaHHS Y

NMCbMOBOMY TEKCT1) Tiepeadayae JIOMOBHEHHS TEKCTYy MPOMYyLIIEHUMHU

CJIOBaMHM Ta BUpa3aMH, sIKi HaJaH1 MCIs TEKCTY Y JOBUIbHIN dopmi.

KosxHa mpaBuiabHa BiANOBIIb 3 ACCATH CIIIB 200 BUpPa3iB OIHIOETHCA Y 3
O0anmm, TOOTO MaKCHMasbHA KUIBKICTH OalliB 3a If0 YacTUHY J0opiBHIOE 30-H.

III yactuHa (pPO3yMiHHS 3MICTY TEKCTy 3a CIEIIAJbHICTIO Ta BMIHHS
MpaIoBaTi 3 HUM) Mependavyae CKIaJaHHs 5 NMUTaHb 10 Tekcty vyacTuHuU Il
KoxHe 3 mpaBWIbHO CKIIAQIEHUX NUTaHb OILIHIOETbCA y 4 Oanu, TOOTO
MaKCHMMaJlbHa OIIIHKA 3a 1[I0 YaCTUHY JOPiBHIOE 20-1.

3arajJioM MakCMMajbHO MOXJIMBA OIliHKa 3a mucbMmoBui icnut — 100
OautiB.
MiHiMaJIbHA OIIHKA, 32 HASBHOCTI SIKO1 MMCHMOBHH 1CITUT BBAYKAETHCS
3apaxoBaHuM, - 60 OaiB.
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3.Pexomenanii 10 camocTiiiHOI po0OTH CTY/IEeHTIB
3M-I11

[Tig vac BUBYEHHS TEM I[LOTO MPAKTUIHOTO MOIYJIS CIIi 3BEPHYTH OCOOIUBY
yBary Ha pi3He JIEKCHYHE 3HAUYCHHS Ta MePEeKiIaj] OJHAKOBHUX 3a (HOPMOTO
3aiMEHHHUKIB.

Jliteparypa:
1--cr.;4-8
4 -- c1.1- 32.

Iutanna 19 camonepeBipku

1.After I’d ironed my shirt it looked ... than before.

A. creaseder B. more creased C. the most creased
2.1 think he was ... than brave.

A. more mad B. madder C. Most mad

3... my three brothers , Adam is the oldest.

A. From B. Due to C. Of

4.1t is not as quite a place ... it used to be.

A. like B. as C. less

5.1 checked the form ... carefully but didn’t notice the mistake.
A. most B. less C. The most

6.1t was the tallest tree ... the forest.

A. of B. from C.in

[IpaBuibHI1 BIANOBIII
1-B; 2-A; 3-C; 4-B; 5-A; 6-C

3M-I12

[1ix yac BUBYEHHS T€M I[LOTO MPAKTUYHOTO MOIYJSI HEOOXITHO 3araM’ ATaTu
PI3HOMaHITHI JIEKCHUYHI Ta TpaMaTu4H1 (HOPMU I BUPAKEHHS MTOPIBHSHHS.

13



Jlitepatypa:
1--c1.17-22;
2 --c1.32- 71.

Iutanus 1A camonepeBipKku

1. The price of the holiday includes all meals ... lunch.

A. except for B. without C. Except that

2. After the operation he could see nothing ... vague shadows.
A. apart from B. apart C. Except from

3. ... her novels and poems, she published a number of short stories.
A. Except for B. But for C. Besides

4. Idon’tcare ... the theatre much.
A.to B. for C. about

5. Stefan’s story agreed ... that of his son.
A. for B. To C. with

6. | was asked to talk ... my research.
A.on B. of C.to

[IpaBwibHI1 BIAOOBIII
1-A; 2-A; 3-C; 4-B; 5-C; 6-A

3M-I13

[lix gyac BUBYECHHS TEM I[bOTO MPAKTUIHOTO MOAYJS HEOOXiTHO 3BEPHYTH
yBary Ha BUKOPHCTAHHS TEMEPINIHbOTO 4acy JJIsi BUPAXEHHS MaiOyTHBOI il
micis if (IKI10); MOXIIMBICTH 1HBEPCIT B YMOBHHMX PEUYCHHSX; BXXUBAHHS YaCTKU
to micns MogasibHOTO JiecoBa ought Ta mumpiny cepy BUKOPUCTAHHS MACUBHOL
dbopmu B aHTTIHACHKIN MOB1 y MIOPIBHSAHHI 3 YKPaiHCHKOIO.

Jlitepatypa:
1--cr.17-22;
2--cr.32-71.

IMuranns 1A camonepeBipku

1. 1... I were young again.

A. want B. wanted C. wish
2. | suggest that you ... read it youselves.

A. shell B. should C. must

3. If | ... aletter, I'll answer it.
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A. will get B. got C. get

4. 1fonly I ...it!

A. know B. had known C. did know
5. If I had spoken to her, I ... everything.

A. should have learned B. would learn C. had learned
6. You ... drive fast. We ve got plenty of time.

A. needn't B. must C. couldn't

[IpaBuabHI BIAOBIII
1-C; 2-B; 3-C; 4-B; 5-A; 6-A

3M-114

[1in yac BUBYEHHSI T€M IOTO MPAKTUYHOTO MOJIYJs HEOOXITHO 3BEPHYTHU
yBary Ha BiJIMIHHOCTI y BXKHBaHHI I€pyH/li1 Ta IMEHHHKIB 13 3aKiHYCHHSIM Ha -
iNg (BXXMBaHHS 3 IPUCTIBHUKOM a00 MPUKMETHUKOM, HassBHICTh a00 BiJICYTHICTh
OpsMOro  JOJATKy, Miclle NpUIMEHHHKa) Ta OCOOJMBOCTI MEpeKIaay
a0COJIIOTHOTO A1ENPUKMETHUKOBOIO 3BOPOTY.

Jlitepatypa:
1--cr.17-22;
2 --c1.32- 71.

IMuTanHsa 19 camonepeBipKku
1. T object ... your participating.
A. of B. - C.to
2. He stopped ...
A. smoking B. having smoked C. being smoked
3. They were made ... work hard.
A. - B. of C.to
4. \We have never heard this girl ...
A. to sing B. sing C. to be singing
5. ... the exercise, the student left it to ...
A. Having written, be checked B. writing, check  C. while
writing, have been checked
6. 1 will have my photo ...
A. being taken B.taken  C.totake

ITpaBuiIbHI BIAITOBII
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1-C; 2-A; 3-C; 4-B; 5-A; 6-B

Bxka3iBku 3 NiATOTOBKM NHCHMOBOTI0 MEPEKJIATY

TekcT cycniabHO-TMOMITUIHOTO 3MICTy MOXE CTOCYBAaTHUCS OYyIb-
K01 TeMH (TTOTITHKA, EKOHOMIKa, KylIbTypa, MUCTEIITBO, KPaiHO3HABCTBO
Ta iH.). Bin Mae HamuyBaTu npubauzao 20 TUC. AP.3H. 3 Ta OyTH
MIPEICTABIICHUN Y BUTJIAII KCEPOKOIIii a00 po3apyKiBKH 3 [HTEpHET-
BujanHs. Jlo mepekiaay yKpaiHChKOO MOBOIO CITiJT JOJIaTH CITUCOK
HE3HAMOMHMX CJIiB Ta CIOBOCIIOJYYCHb 3 IXHIM IEPEKIaIOM Y KiJIbKOCTI HE
MeHie 100 TeKCHYHUX OJIMHMITL, Ta KOPOTKE PE3IOME aHTJIHCHKOIO
MOBOIO.

4.ITuTaHHs 10 3aX0AIB MOTOYHOTI0, MiJICYMKOBOTI'0
Ta CEMECTPOBOr0 KOHTPOJIIO

VY nyxkax — IOCWIAHHS Ha JDKEpella, Jie MO)KHa 3HaWTH iHdopmarliio, Ta
BIAMOBIAHI cTOpiHKH. ([{uB. po3maia 5).

4.1 TecToBi 3aBAaHHA 10 TecTyBaHHA y moayJai 3M-I11

1. Supply “the” or “a” where it necessary (3, ¢.204-207):

a) watches have become very cheap and very attractive.

b) Most of watches you see today work on quartz.

c) What has been the longest period of peace in history?
d) If you study history, you’ve got to read a lot.

e) We travelled by car around __ Europe last year.

f) I haven't been_ Netherlands yet.

g)__ Brazil is the largest country of __ South America.

h) I didn't goto __ work yesterday.

1) Did you visit __ Oxford Street?

J) When did you graduated from __ Cambridge University?

2. Fill in the blanks with personal pronouns (3, ¢.236-237):
Model: | see a girl, | see her:

a) We know this boy, we know
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b) I’'m glad to meet both Tom and Ann, I’'m glad to meet
c) Give me the book, give to me.

d) I didn’t see Ann, I didn’t see
e) This task was given to you and to me, it was glven to
f) This is our dog, we love __ very much.

3. Fill in the blanks with missing possessive pronouns (3, ¢.238):

a) Thisisnot _ key,itmustbe

b) Tell me, isn’t that  girl-friend over there?

c) | see that he has lost __ pencil, perhaps you can lend him
d) No country is so beautifulas

e) He promised to take me his book, so I'll not take

f) I put on my coat and she putson

g) | have eaten all my chocolates. Have you eatenall

4. Complete these sentences using “ myself/yourself”, etc. (3, ¢.237):

a) It isn’t her fault. She really shouldn’t blame

b) Did you make the dress ?

¢) The boy was lucky when he fell down the stairs. He didn’t hurt
d) Our new neighbors knocked at our door and introduced

e) The newcomers built the houses

f) You shouldn't blame ___, it was not your fault.

g) We must protect __ from the cold.

5. Insert interrogative pronouns (3, ¢.238):

a) ___ do we call this sea?

b) are your intentions for the holiday?
c) ___ turnis it now?

d) __ isspeaking?

e) ___ isJohn? Is he an engineer?

f) bag is this? Yours or Simon’s?

6. Insert” every/each” or” either” (3, ¢.237):

a) ___ day he comes here, and time he asks me the same questions.

b) There was a huge building on side of the square, having a massive
arched gate.

c) There were huge buildings on side of the street and had rows of
balconies as its only decoration.

d) Which would you prefer, the Webster or the Oxford dictionary? - will
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do. Thank you.
.e) He shook hands and had a few minutes’ talk with of us.

7. Supply the appropriate pronoun out of those given in brackets (some,
any, no) (3, c.238):

a) You can find him time between six and nine.

b) He can answer question on the subject.

c) Canwe have _ milk?

d) Thereis __ milkin that jug.

e) Have you __ idea who could have borrowed your bicycle?
f) Are there __letters for me?

g) He lives ___ where in France now.

8. Supply” anybody/anyone, nothing, anything, nobody/no one,
somebody/someone or something/somewhere/anywhere” (3, ¢.237):

a) Isthere in the basket? - No, it’s empty.

b) Can __translate these sentences?

c) I've prepared for dinner which you’ll like very much.
d) Do you live near Jim?

e) They slept in the park because they didn’t have to stay.
f) __ can claim that some subjects arent harder than others.

g) Itistime you did about this subject.

h) Thereis ____inthe basket. It is empty.

9. Use “there is (are)” construction in the necessary tense form (3, c.125-
128):

a) Look! their telephone number in the letter.

b) How many students ____in your group?

¢) I was hungry but _____anything to eat.

d) _ somebody at the airport to meet you when you arrive tomorrow.

10. Supply the quantitative pronouns “much, many, a lot of, few, a few,
little, a little” (3, ¢.236 — 237):

a) There is not space in this flat.
b) There aren't portraits of Ch. Dickens.
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c) | must say you have books.

d) There are who know about this.
e) Itis adifficult text. I've had to look up quite __ words in the dictionary.
f) 1f you don’t hurry we'll miss our train. There's time to spare.

11. Choose the right forms in these sentences. In some cases both forms are
right (3, ¢.218-220):

a) Is the station much (further/farther)?

b) Your record is (worse/worst) than mine.

c) It’s the (less/lesser) of two evils.

d) She always wears the (last/latest) fashion.

e) Nick skates (good/well).

f) His (latest/last) words were: “The end.”

g) She is the (oldest/eldest) member of our family.

12. Complete these sentences using the correct form of the adjectives given
in the brackets (3, ¢.218 -220):

a) What is the building in your city? (large)

b) He was the singer of this year. (popular)
c) Today your answer is ____ than usually. (bad)

d) Who isthe __ student in your group? (good)
e) What are the days of your life? (happy)

f) Hiscaris than mine. (good)

13. Fill in the blanks with the appropriate form of the verb “to be” (3, c.125
—126):

a) Thecrew __ rescued by our boat.
b) Her clothes _ very fashionable.

c) No news good news.

d) Where my spectacles?

e) The phenomena unusual.

f) Mathematics difficult.

9) the data precise?

h) There a lot of sheep in the field

14. Give the interrogative and negative forms of the following sentences
(3,¢. 125 - 127):
a) He has a lot of experience.
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b) She has got long dark hair.
c) They had late supper tonight.
d) We have got a lot of problems now.

15. Fill in the blanks with the appropriate words:

a) 1) in Environmental Science are so varied it is difficult to consider
them as one category. You could end up working from home most of the
time or 2) around the world on an annual basis. You could be
doing 3) work, field work, or some combination thereof. Your 4)
_____could be mathematical, physical, or written. Of course the majority
careers in Environmental Science are some 5)

Those engaged in Environmental Policy, Planning, and Management usually
work for a local 6) and are likely to be engaged in a lot of research
intensive work. Environmental 7) may be able to get out of the office
to the 8) , Or, again, have intensive desk jobs.

A. Desk B.lawyers C.focus D.Careers E.blend in-between F.
traveling G. government H. courtroom

b) Environmental scientists are problem 1) . They research
environmental and health problems to 2) their causes and come up
with 3) . They investigate 4) like mysterious deformations
in frogs, unexplained cancer occurrences in a neighborhood, or disease in
the 5) asbestos mining towns.

Environmental scientists 6) research to identify the causes of these

types of problems, and how to minimize or eliminate them. They also

conduct theoretical research that increases our 7) of how the
natural world works. They use what they learn to make recommendations and

8) strategies for managing environmental problems.

A. understanding  B.issues C.develop D.solvers E.conduct
F.solvers  G.former  H.determine

c) Environmental scientists conduct research to identify, control, or
eliminate 1) of pollutants or hazards affecting the environment or
public 2) . Their research generally involves determining 3)
collection methods; collecting and analyzing air, water, and soil 4)

; analyzing environmental data gathered by others; and analyzing
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for correlations to human activity. They also need to prepare reports and
presentations that 5) their findings.

Environmental scientists also develop plans to prevent, control, or fix
environmental problems like air 6) . They may also advise government
officials that make policy, and businesses that need to follow regulations or 7)

their practices. Some conduct environmental inspections of businesses.
Many assess the potential effects of development projects to 8) creating
new problems.

A. Explain  B.samples C.sources D.prevent E.health F.
improve  G. pollution  H. data

d) The 1) professional thus became increasingly confronted by
competing or even conflicting environmental objectives, made even more
complicated by the multifunctional character of the ultimate2) :
sustainable 3) . Here, global guidance was sadly lacking; our
objectives have evolved faster than the development of new
methodologies and 4) . Even nearly 15 years after the Earth
Summit in Rio de Janeiro there are still few 5) on how to
reconcile environmental quality with economic performance and social 6)

. The internationally agreed on Millennium Development
Goals, the multiple objectives of the World Summit on Sustainable
Development (WSSD) in Johannesburg 2002, and even the
comprehensive Agenda 21 all suggest useful goals. But they 7)
with lists of single issues and give no hint of how these can be integrated
during the implementation process. We found ourselves, quite suddenly,
with a host of goals and a full toolbox, but with no guidance manual to
tell us how to put them all together in a coherent 8)

A. manner B.goal C.deal D.environmental E.policies F.
guidelines  G.welfare  H. development
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4.2 TecToBi 3aBJ1aHHA 10 TeCTYBaHHsA y moayJi 3M-112

I. Put the verb in the 3-th person singular (3, ¢.126 — 127):

a) They wish to speak to you. (He)
b) They help their father. (She)

¢) You watch too much TV. (He)
d) They worry too much. (She)

e) | always carry an umbrella. (She)

2. Make the following sentences negative (3, ¢.126 — 127):

a) The waiters do their work well.
b) The dog sleeps all day.

c) The students have new textbooks.
d) She tries to play tennis well.

3. Make the following sentences interrogative (3, c. 126 — 127):

a) His sons go to the local school.
b) They fish in the lake.

c) Elephants never forget.

d) The river freezes in winter.

e) She realizes the danger.

f) We sometimes miss the bus.

4. Use the Present Continuous in the following sentences (3, c. 128):

a) Don't rush me. | as fast as | can. (work)
b) What ? It looks awful. (drink)

c) He to catch his train. (hurry)

d) What time he tomorrow? (arrive)

e) She to lock the front door now. (try)

5. Put the verb in brackets into the Present Indefinite and the Future
Indefinite (3, c.125- 127):

a) | (be) at home if you (need) anything.
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b) He (wait) until they (send) for him.

¢) I (not know) when they (come) to see us.
d) He can’t tell us when the motor (start).
e) | (phone) you if I (not forget).

6. Put the verb into the Present Continuous or the Past Continuous (3, ¢.128-
129):

a) Please be quiet. | (try) to sleep.

b) Why you (look) at me like that? Am | green or something?
c) Ann (wait) for me when | arrived.

d) It’s a good play, isn’t it? You (enjoy) it?

e) You (watch) television when | phoned you?

7. Put the verb into the correct form, the Present Continuous or the Present
Simple (3, ¢.125, 128):

a) These things (not belong) to my parents.
b) Look! He (come). | (want) to speak to him.
c) This stream (flow) to the lake at the bottom of the valley.
d) Today the river (flow) much faster than usual.
e) She (look for) a new flat at the moment.
) A: What your husband (do)?
B: He’s a broker but he (not work) at the moment.

8.. Put the verb in brackets into the Past Indefinite or the Present Perfect
(3, c.126, 129-130):

a) | just (call) him.

b) I (not call) him yesterday, | was busy.

c) She already (answer) the letter.

d) She (answer) it on Tuesday.

e) My friends (go) away five minutes ago.

f) He (not smoke) for two weeks. He is trying to give it up.
g). When he (arrive)? - He (arrive) at 2.00.

h) You (have) breakfast yet? - Yes, | (have) it at 8.00.

9. Open the brackets using Present Perfect, Past Simple, Past Continuous,
Past Perfect (3, c.126, 128, 130):
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a) | just (to meet) him.

b) Look! Sam (to bring) some cheese biscuits.

c) They (to dance) from six till ten o’clock.

d) We (not to see) each other before we (to come) to the place.

e) The meeting (to begin) before he (to come) to the place.

f) Yesterday we (to return) home late.

g) We (to understand) that she (not to see) us before.

h) At seven o’clock yesterday Cathy (to sleep) as she (to be) tired.

10. Open the brackets using Present, Past, Future Simple; Present, Past,
Future Continuous; Present, Past, Future Perfect (3, ¢.125- 130):

a) She (to go) to school every day.

b) Beth (to go) to school at the moment.

c) The lesson already (to begin).

d) He (to go) to school tomorrow?

e) Tomorrow at this time | (to be) at school.

f) What they (to do) at seven o’clock yesterday?

g) Next Sunday he (to play) tennis from ten till twelve.

h) Where he (to be) now? — He just (to go) to the library!
1) | (write) the letter before you come.

J) I (finish) to translate the article by 10 p.m. tomorrow.

11. Open the brackets using Present Simple, Present Continuous, Present
Perfect, Present Perfect Continuous (3, ¢.125, 128, 130- 131):

a) Her children (to be) in the yard. They (to play) football now. They (to play) it
since ten o’clock.

b) She (to speak) English well. She (to study) it for five years. Listen! She (to
speak) English to her teacher.

c) His son just (to return) home. He (to be) dirty. He (to play) volley-ball.

d) Where David (to be)? — He (to be) in the library. He (to work) there at the
moment. — How long he (to be) there? — He (to work) for three hours.

e) Why she (to look) tired? - She (to work) all night.

f) Since when they (to wait) for us? - They (to wait) for half an hour. We (to be)
late.

g) My sister (to drive) a car. She (to learn) to drive for two months.
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12. Open the brackets using Future Simple, Future Continuous, Future
Perfect, Future Perfect Continuous (3, ¢.127, 129, 130-131):

a) He will be hungry because he (not to eat).

b) We (to go) by train for two days by the time we get there.
c) She will be tonight as she (to work) all day.

d) Brian (to have) dinner when mother comes.

e) They (to meet) us by the time they have to leave Ukraine.

f) She (to work) at school for twenty years by 2001.

g) My sister (to study) for five years when she gets her degree.
h) Don’t be late! They (to wait) for you in the cold.

13. Put the following sentences into the past (3, c.149- 151):

a) | know that his father is a teacher.

b) We are sure they will recognize us.

c) She thinks that | am playing chess.

d) He tells me that his father was a teacher.

e) He is telling us that he has a good ear for music.

f) They say that they will be sitting in the second row.
g) Christine asks if we posted her letter.

14. Open he brackets using Future Simple, Future Continuous, Future
Perfect ado Future in the Past Simple, Future in the Past
Continuous, Future in the Past Perfect. Translate into Ukrainian
(3, €.149- 151):

a) He says he (to phone) me in two days.

b) He said he (to phone) me in two days.

c) I think they (to work) from two till seven on Friday.
d) I thought they (to work) from two till seven on Friday.
e) He is sure he (to finish) translating by the evening.

f) He was sure he (to finish) translating by the evening.
g) We suppose Beth (to play) the piano at six.

h) He understood she never (to forget) him.

1) I heard Nick (to return) by Sunday.

j) We knew he (to bring) good music.

15. Put the following statements into indirect speech (3, ¢. 154 — 155):

a) “I can live on my basic salary”, - said Peter.
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b) “We're waiting for the school bus”, - said the children.
c) The officer commanded: “Stay where you are.

d) “She explained: “We will go on an excursion tomorrow”
e) “No, I have no time”, - she said. (She answered ...)

16. Fill in the blanks with the appropriate words:

a) Thel) professional thus became increasingly confronted by
competing or even conflicting environmental objectives, made even more
complicated by the multifunctional character of the ultimate2) :
sustainable 3) . Here, global guidance was sadly lacking; our
objectives have evolved faster than the development of new
methodologies and 4) . Even nearly 15 years after the Earth
Summit in Rio de Janeiro there are still few 5) on how to
reconcile environmental quality with economic performance and social 6)

. The internationally agreed on Millennium Development
Goals, the multiple objectives of the World Summit on Sustainable
Development (WSSD) in Johannesburg 2002, and even the
comprehensive Agenda 21 all suggest useful goals. But they 7)
with lists of single issues and give no hint of how these can be integrated
during the implementation process. We found ourselves, quite suddenly,
with a host of goals and a full toolbox, but with no guidance manual to
tell us how to put them all together in a coherent 8)

A. manner B.goal C.deal D.environmental E.policies F.
guidelines  G. welfare  H. development

b) Environmental management is not easy to 1) . As Barrow (2005)
has acknowledged, it can 2) to a goal or vision, to attempts to steer
a process, to the application of a set of tools, to a philosophical exercise
seeking to establish new perspectives towards the environment and human
societies, and to much more besides. Environmental managers are a
diverse group of people 3) academics, policy-makers, 4)
organisation (NGO) workers, company employees, civil servants and a
wide range of individuals or groups who make 5) about the use of
natural 6) (such as fishers, farmers and pastoralists). Indeed,
environmental management involves all people to some 7)
because all human activities ultimately have some sort of environmental
8)
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A. extent B.including C.refer D.impact E.non-
governmental  F.resources G. define  H. decisions

In general environmental management is concerned with the
understanding of the structure and function of the 1) system, 2)
_____of the ways in which humans relate to their environment.
Environmental management is therefore concerned with the 3)

and monitoring of environmental changes, with 4) future changes
and with attempts to 5) human benefit and to 6)
environmental  degradation due to human activities.  Yet,
characteristically, environmental management is about decision-making -
and it is especially concerned with the process of decision-making in
relation to the use of natural resources, the pollution of 7) and the
modification of ecosystems. Fundamentally, then, environmental
management is a political activity because those decisions - about
resources, pollution and ecosystems — are never 8) j or objective;
on the contrary, they are value laden and they reflect the exercise of

power by particular groups over others.

A. maximize B. neutral C. earth D. habitats E. as well as

F. minimize  G. predicting  H. description

4.3 TecToBi 3aBJaHHS 10 CEMECTPOBOI 3AJ1iKOBOI KOHTPOJIbHOI po00oTH

(7 cemecTp)
1.Supply “the’ or ‘a/an’ where is necessary (3, ¢.204- 207):

1) People used to pay in ... gold.

2) What will ...weather be like tomorrow.

3) His aunt, ... woman of uncertain age, was also present at ... ceremony.
4) I couldn’t hear ... word she spoke.

5) This is ...safest way out I’'m sure.

6) There was ... air of excitement at the meeting.

2.Put a personal pronoun in the appropriate case or in the absolute form

instead of the noun in the brackets (3, c. 236- 237):
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1) (Jane) told (Alice) to help (Mare and Peter).

2) (My father) seemed surprised to find (Alice and I) there.

3) (My brother) gave (Mike) a very interesting story to read.

4) Ring (I) up tomorrow.

5) He promised to give me his book, so I’ll not take (your book).
6) Your flat is much larger than (our flat).

7) She put on her coat and I put on (my coat).

3.Put the adjectives in the brackets in the appropriate forms (3, ¢.218- 220):

1) They were his (last) words.

2) She is my (old) sister.

3) They were having the (violent) argument | had never heard.
4) Your car is (large) than mine.

5) Itis (good) thing we can see.

6) He speak English (badly) than I expected.

4.Supply the correct reflexive pronouns (3, ¢.236- 237):

1) Jane prides ... on her ability to judge people’s characters.
2) Our new neighbors introduced ...
3) We amused ... playing football on the beach.

5.Supply the defining pronouns every, each, everyone, everything, all, whole
in the following sentences (3, ¢.239- 240):

1) When the famous actress appeared, ... wanted to speak to her.
2) Nearly ... home in the country had television.

3) Here is something for ... of you.

4) You have been given ... opportunity to do well in this company.
5) The ... list is endless.

6) They had ... married a woman called Linda.

6.Insert some or any (3, ¢.239):
1) Don't let ... one in. I'm too busy to see ... body.
2) When would you like to come? ... day would suit me.

3) ... thing tells me you’ve got ...bad news for me.

7.Use the correct Present (Simple or Continuous) tense form (3, ¢.125- 126,
128)

1 )These flowers (smell) very sweet.
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2) The boy (swim) back towards the beach now.
3) He (leave) tomorrow morning.

4) You (think) he is right?

5) I (think) about his suggestion.

8.Supply the Past (Simple or Continuous) of the verbs in the brackets (3,
c.126- 127, 128- 129):

1) We (not go) out because it (rain).

2) | (see) Helen at the party, she (wear) a really beautiful dress.
3) Jane (have) dinner when her friend (call).

4) What you (do) at this time yesterday?

9. Supply the Present Perfect or the Present Perfect Continuous of the verbs
in the brackets (3, ¢.129- 130, 131):

1) I (type) all your letters. The job’s done.

2) I (type) this report since yesterday and I’'m only half way through.
3) Your mother is still in the kitchen. She (cook) all morning.

4) I (cook) a lovely meal which I’ll be preparing in a few minutes.

10. Supply the Past Perfect or the Past Perfect Continuous of the verbs in
the brackets (3, ¢.130 - 131):

1) I knew she (do) the washing because the machine was still working when |
got in.

2) | knew she (do) the washing because when | got in she was ready to go to
bed.

3) We (finish) our work by seven 0" clock last night.

4) | thought you (work) there for two months.

11. Supply the Future Simple or the Future Continuous tense of the verbs in
the brackets (3, ¢.127, 129):

1) Do you think you (still work) here in five years’ time?

2) At this time next year, | (write) my memories.

3) Sit down and fasten your seat belt. We (take off) in a few minutes.
4) I don’t think I (see) him tonight.

12. Supply the Future Perfect or the Future Perfect Continuous of the verbs
in the brackets (3, ¢.130- 131):

1) They (complete) the new bridge by the end of the year.
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2) By the end of this week | (wait) seventeen weeks for my phone to be repaired.
3) Do you realize that on August 15, we (live) in this house for fifty years?
4) | hope | (finish) this report by the end of the day.

13. Put the following sentences into the past (3, ¢.149- 151):

1) Mary says she was here two days ago.

2) John asks them what they know about it.

3) He asks us where we will go in two days.

4) Peter thinks that | am singing an Italian song.

5) She says she was making a new dress for her daughter.

14. Put a possessive pronoun in the conjoint form or in the absolute form
(3, c. 236- 237):

1) Ann has got five books, so I borrowed one of ...
2) | forgot to call my uncle on ... birthday.

3) This girl never puts anything back in ... place.
4) It’s a favourite place of ...

5) I'm nervous about ... date with Peter.

15. Put an ordinal numeral (3, c. 233- 235):

1)She was ... to tell me the news.
2)Saturday is ... day of the week.

16. Fill in the blanks with the appropriate words:

The scope of the problems was also found to be broader than had been 1) :
Pollution does not respect frontiers, and emissions 2) in one country often
impact its neighbors or, in some cases, the entire planet. 3) problems
such as long-range air pollution and the still-current practice of exporting wastes
to other countries began to feature in our daily news.

Additional control programs were proposed, 4) in a more life-cycle view
of materials and products and in a consensus that it is more efficient to 5)

the driving forces of a problem than to deal with the final impacts. There was
more talk about “preventive” or “upstream’ action, where the 6) actors are
often mainstream business or development professionals but may also be
ordinary citizens in the form of consumers. Given that many of the driving
forces have their origins in globalized trade and 7) patterns, trade
measures became a more visible part of 8) policy.
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A.rooted B. Transboundary C.released D.expected E.
environmental  F.tackle G.consumption H. key

4.4 TecToBi 3aB1aHHs 10 TecTyBaHHs y moayJai 3M-I13
1.Put the verbs in the brackets into the correct tenses (3, ¢.175):

1) Her son always observes the highway code: if he (to cross) the road, he will
wait till lights show green.

2) If she had lost her spectacles, she (not to be) able to read this article.

3) If we were here, we (to answer) you.

A1 will lend you this book if | (to finish) it before you go on holiday.

5) It would be embarrassing, she (to be) to find out the truth.

6) If you (to happen) to be in our area, drop in and see us.

7) If your mother were here, I’m sure she (not to let) you eat all those
chocolates.

8) Unless it (to rain), I’ll pick you at six.

9) I would be amazed if Christie (not to win).

10) She (not to go) to university unless her parents had insisted.

11) If Joseph de Ribas (not to present) those two small gardens to the city, we
couldn’t have enjoyed one of the most popular holiday destinations of Odessa.
12) She was angry with him, otherwise she (not to say) such offending words.
13) Unless you (to can) deliver the machines by the 15" September, we will be
compelled to cancel the order.

14) Suppose it (to snow), what will we do?

2.Put the verbs in the brackets into the correct tenses of the Subjunctive
Mood (3, ¢.174-175, 5, ¢.164, 166, 168, 170, 172):

1) He walked into the room as if nothing (to happen).

2) But for the rain the girls (to go) for a walk.

3) The dean suggested that Peter (to take) a refreshment course.
4) (to be) it so!

5) He demands that we (to be) attentive.

6) It is necessary that the boy (to read) this book.

7) He ordered that George (to run) to the nearest village.

8) Come closer so that I (to show) you a schedule.

9) She spoke as if she (to know) everyone there.

10) Peter speaks French as if he (to be) a Frenchman.
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11) But for a bad cold he (not to go) fishing.
12) But for a certain lack of concentration you (not to be able) to accomplish
this task.

3. Complete these sentences with “I wish” by using the verbs in the
brackets into the correct tenses (3, ¢.174-175):

1) I enjoy my job enormously, but I wish it (to be) closer to home.

2) I wish I (not to tell) you about it.

3) I wish he (to come) home, but I don’t think he will.

4) | wish we (to see) mote of each other these days.

5) I wish I (to see) this movie a week ago.

6) They wish they (not to invite) John to their housewarming party. It was so
dull.

7) Sue is taking her English test tomorrow. She wishes she (to learn) grammar
better.

8) The cake is delicious, but I wish there (not to be) so much fat in it.

4. Make the sentences with “I wish” (3, ¢.174-175):

1) I have eaten too much and now I feel seek. I wish ...

2) It is cold and I hate cold weather. I wish ...

3) A good friend of mine visited our city, but unfortunately | was away when he
came. So [ didn't see him. I wish ...

4) My sister didn't know that Ann was ill. She would have gone to see her. She
wishes ...

5) I am not lying on a beautiful sunny beach and that's a pity. [ wish ...

5. Complete the following sentences with modal verbs or their
equivalents (3, ¢.165-167; 5, ¢.30, 32, 34, 36, 38, 40):
1) Our teacher says we ... speak English fluently in a few months.
2) It ... rain, you'd better take a coat.
3) He said it ...rain.
4)... you help me with the washing up, please?
5) My dentist says I ... eat so many sweets.
6)—-Shall I translate this text? — No, you ...
7) All ... respect their parents.
8) It was Sunday yesterday, so he ...to be at work.
9) The conference ... begin at 10 o clock.
10) She ... be Irish with a surname like O Neil.
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11) You ... not wait for me.

12) Nobody answers the phone. They ... be out.

13) ... you mind passing me the salt?

14) As you ... remember, | was always interested in scientific experiments.
15) They ... be tired. They have been travelling all night.

16) The train ... arrive at five o'clock.

6. Make these sentences passive (3, ¢. 159-160):
1) She didn’t introduce me to her mother.
2) A Japanese firm makes these television sets.
3) Nobody has used this room for ages.
4) We will have to take the car to the garage.
5) We have warned you.
6) The examiner will read the text three times.
7) We can solve the problem.
8) Somebody might have stolen your car if you had left the keys in it.
9) They shouldn’t have played the football match in such bad weather.
10) They are repairing my piano at this moment.

7. Make these sentences active (3, c. 159-160):
1) The city is being defended by the soldiers.
2) Everything that was needed has been done by Alec.
3) The doctor will be called tonight.
4) My evening dress won't be dressed by my sister.
5) The amendment has been repeated by other members.
6) He was taken to hospital by the ambulance.

8. Fill in the blanks with the appropriate words

a) Environmental protection can be defined as the 1) of unwanted
changes to ecosystems and their constituent 2) . This includes

sthe protection of ecosystems and their constituent parts from changes 3)
with human activities; and

sthe prevention of 4) natural changes to ecosystems and their constituent
parts.

One issue associated with this definition is 5) “ecosystems and their
constituent parts” include humans and communities, or whether environmental
protection is only 6) with the protection of natural 7) . From an
ecological perspective, humans are regarded as an integral part of the ecosystem.
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8) humanity from the natural environment can therefore be seen as
artificial.

A. parts B.concerned C,separating D. prevention E. capital

F. associated G. whether H. unwanted

b) While this is true, the 1) ”” environmental protection” is not used to
refer to 2) that are designed to regulate or mediate direct 3)
between people. For example, 4) prohibiting assault are not
regarded as environmental protection measures. Environmental protection
is concerned with the 5) between people and the natural
environment 6) than the relationships between people and 7)

. Another issue is whether environmental protection relates to
preservation, conservation, or 8)

A. relationship B. communities C. phrase D. rather E. measures
F.laws G. both H. interaction

c) Preservation 1) to the protection of an ecosystem or natural
environment from 2) , While conservation is generally associated with the
3) use of natural resources. The objective of conservation is to 4)

the maintenance of a 5) of renewable resources that is being exploited for
human 6) rather than the protection of the natural environment from any
7) modifications. The exploitation of natural resources for human
purposes is not environmental protection as it is not associated with the 8)

of unwanted changes.

A.change B. anthropogenic C. stocks D. purposes E. ensure

F. prevention G. refers H. sustainable

4.5. Tecroi 3aB1aHHs 10 TecTyBaHHs y moay.i 3M-I14

1.Supply suitable infinitive forms (with or without “to”) for the verbs given
in the brackets (3, ¢.182-183, 5, c. 46):

1) 1 would like home now. (go)
2) Let him a few minutes more. (stay)
3) You can't with your eyes closed. (read)
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4) We are allowed in class. (stay)

5) You ought not my car without my permission. (take)

6) Aren't you glad us here. (see)

7) Let me that letter for you. (post)

8) Why were you waiting here? You should round the corner. (wait)

9) How was the table scratched? It must when it was being moved. (do)
10) She is a slow worker! | could the job twice in the time she is taken.
(do)

2.Supply suitable infinitive forms for the verbs given in the brackets (3, c.
182-183, 5, ¢.140):

1) It seemed since the very morning. (rain)
2) I'm sorry not you. (help)

3) I'm awfully glad him. (meet)

4) It is pleasant all the way home. (walk)
5) I'm happy to this place. (invite)

6) He made me it all over again. (do)

3.Replace subordinate clauses with infinitive clauses (3, c. 183-184):

1) The problem is so difficult that it is impossible to solve it.

2) The box is so heavy that nobody can carry it.

3) The baby is so little that it cannot walk.

4) | have very little wool: it won't make a sweater.

5) She was sorry that she had missed the beginning of the concert.
6) | should be delighted if I could join you.

4.Combine two sentences into one, using objective infinitive construction (3,
.183-184):

1) We saw her. She smiled and began to tell the story.

2) We didn’t notice him. He opened the window.

3) Jack saw his mother. She watered the flowers in the pots.
4) Somebody knocked at the door. We heard it.

5.Transform the following sentences using the subjective infinitive
construction (3, ¢.183):

1) I expect these telegrams to be sent tomorrow.
2) We know her to be a talented actress.

3) We heard her sing a folk song.

4) Everybody supposed him to be a foreigner.
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5.Supply gerund forms (indefinite/ active/passive or perfect/active/passive)
for the verbs in the brackets (3, c. 184):

1) We were sitting for a long time without . (speak)

2) The guests were let in without . (great)

3) On he was home alone he decided not to get up till 11. (discover)
4) The apartment wanted badly. (do up)

5) Nobody looks his best after up all night. (sit)

6) I'm tired of like a silly child. (treat)

7)What | like is . (ride)

8) I enjoy . (read)

6.Supply the correct prepositions (if necessary) with gerund forms (3, c.
185):

1) He has always dreamt visiting other countries.

2) The cold weather prevented us going for long walks.
3) We are looking forward seeing you again.

4) 1 don’t approve your drinking so much coffee.

5) I insist being told the truth.

6) He avoided speaking to them about this matter.

7) Do you mind my asking you a difficult question?

8) Please forgive my interfering.

7.Supply active or passive gerund forms (3, c. 184):

1) Why do you avoid to me? (speak)

2) She tried to avoid to. (speak)

3) The doctor insisted on the sick man to hospital. (send)
4) The child insisted on home at once. (send)

8.Put the verb into the correct form, using gerund or infinitive (sometimes
either form is possible) (3, c. 183, 185):

1) Do you mind such a long way to work every day? (travel)
2) | can’t stand people me what to do when I'm driving. (tell)
3) Do you like ? (drive)

4) 1 would love to your wedding. (come)

5) 1 would like to play the guitar. (learn)
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9.Supply Present Participle or Past Participle of the words in the brackets
(3, c. 186, 5, c. 46):

1) I took a sheet of paper from the envelope. (fold)
2) There were bright stars in the sky. (shine)
3) The deep silence was like a question in the dark between them.

(hang)
4) A man sat at a table for dinner. (wait, lay)

10.From each pair of sentences make one sentence beginning “having”
(3, c. 186):

1) He met her at the station. Then he kissed her.

2) They had dinner. Then they went for a walk.

3) We bought the tickets. Then we boarded the train.
4) She did all her shopping. Then she went home.

11.Supply suitable participle forms in the Absolute Participial
Constructions (3, c. 187):

1) The weather (be) cold, he put on his overcoat.

2) The weather (change), we decided to stay where we were.

3) The bridge (sweep) by the flood away, the train didnt arrive.

4) The next morning, it (be) Sunday, they all went to church.

5) He started about five, Riggs (inform) him that the way would take him
three hours.

6) She stood silent, her lips (press) together.

12. Fill in the blanks with the appropriate words:

a) The change associated with exploitation is 1) and wanted, at least by 2)
doing the exploitation. However, measures that are 3) in place to

prevent 4) of natural resources do constitute environmental protection.

They are designed to prevent exploitation 5) a point that is 6)

desirable or sustainable. For example, 7) quotas in fisheries and air

pollution limits are environmental protection measures because, while they

accept some environmental degradation, they 8) to limit it.

A.put B.catch C.deliberate D.beyond E. deemed
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F.those G. overexploitation H.aim

b) Environmental protection is a key1) for today’s production

processes. In some areas we find very 2) , No liquid waste policies

as an example. In other operations it is more a question of a positive 3)
image. Even if 4) has a better name than chemical

production, companies do not want to be affected by any negative 5)

or waste. In the interest of brand image companies are taking 6)

a step further, and rather than just comply with the 7)
environmental requirements, they are embracing corporate social
responsibility, which is something that is taken very seriously with many
companies voluntarily completing sustainability 8) :

A. minimum B. biotechnology C. emissions D. reports

E. brand F.stringent G. requirement H. things

Environmental responsibility starts with avoiding 1) . The better the

process controls work, the 2) the amount of raw materials or

intermediate or final products ending up as waste. This reduces the 3)
that has to be treated or handled. Hygienic design is one main

supporter of waste 4) , as well as using the right technology to
differentiate between products and cleaning agents in phase shifts. Both
factors support very 5) change-over with only small mixing phases.

Whether the change-over should be controlled by density, 6) :
turbidity, conductivity, or temperature needs to be determined and
properly evaluated to find the fastest reacting technology for the specific
7) . It may be 8) to install more than one system if products
vary a lot or if the cleaning and the process have completely different
demands.

A.fast B.application C.useful D.waste E. color

F.lower G.load H. reduction
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4.6. TecToBi 3aBIaHHS 10 eK3aMeHaliliHOI po0oTH

PART |

GRAMMAR

I. Supply the articles (a, an or the) if they are
necessary (3, c. 204-207, 5, c. 88, 90, 92, 94):
1. Statue of Liberty was a gift of friendship from __ France to
____United States.
. I begantoread _historical novel.
. We got jobin south and spent next two years doing
we really enjoyed.
. Tom is studying English and math this semester.
5. Civil War was fought in United States between 1861 and
1865.
6. Lake Erie is one of Great Lakes in North America.

w N

N

I1. Make these sentences plural (3, c. 201-203):
1.This is a very rare phenomenon.
2. The deer was quick and strong.
3. This bicycle is for a child.
4. | have a piano.
5. She is his wife.
6. The deer was ready to start.
7. She is my sister-in-law.

I11. Choose the right pronouns (3, ¢. 236-237, 5,c. 96,120):
1. Thisbookis .
2.Do the homework .
3.Jane likes to read, this book is for .
4.Where do they live with __ children?

5. Where is the article you have translated?

6. The boy IS speaking to me was my student before.
7. Would you like coffee?

8. She had rest.

IVV. Choose the right forms of the Adjectives (3, ¢.218-219):
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1.The island of Great Britainis ____ than Greenland. (large)
2.Thisis ___city in the country. (big)

3.Your results are ____in your group. (bad)

4. Your car is than mine. (good)

5. He was singer of this year. (popular)

6. He is man | have ever seen. (strong)

V. Complete the questions (3, c. 307-308, 5, c. 52):
1. does your working day begin?
2. subjects are you good at?
3. old are you?
4. students are there in your group?
5 Is your father? - He is an engineer.

VI. Complete the sentences with modal verbs (3, c. 165-
167, 5, c. 30, 32, 34, 36, 38, 40):
1.You devote so little time to the child. You __ give him more attention.
2.John __ run very fast.
3. lcomein?
4. 1t rain. You d better take a coat.
5.You ring the bell, | have a key.
6. You drink this. It is a poison.

VII. Choose the right equivalent of the modal verbs (3, c.
135-137):
1.The buses were all full: | get a taxi. (must)
2.1 don't feel well: | work tomorrow. (not can)
3. The train arrive at six o clock. (must)
4.You bring dictionaries from the library. (may)

VIII. Turn this sentence from the active into the passive
(3, c. 159-160, 5, c. 44, 46, 48, 50):

1. She didn’t introduce me to her mother.

2. They are sending Mr Smith abroad on business.

3. The wind blows the clouds away.

4. They give him English magazines.

5. We can solve this problem.

6. They had to postpone the meeting because of illness.
7. The examiner won't read the text twice.
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IX. Turn this sentence from the passive into the active
(3, c. 159-160):

1.The enemy is being driven back by our soldiers.

2. Everything that was needed has been done by Alec.

3. The amendment has been repeated by the other members.
4. We were told the news by the teacher.

5. The road was illuminated by the moon.

6. This book is often referred to by her.

X. Fill in the blanks with the verbs in the Present Simple
or the Future Simple (3, c. 125, 127, 175):
1.Unlessyou _ hard, you  the exam. (study, not to pass)

2. If | to her tomorrow, | everything. (speak, learn)
3.1 very angry if he any more mistakes. (be, make)
4. If you late they you in. (come, let)

XI. Use the correct Present (Simple or Continuous) tense
form (3, c. 125, 128):
1. My classmate ___ the violin every day. (play)

2.Don'trush me. I asfastas I can. (work)
3.1 tomorrow morning. (leave)

4.These flowers very sweet. (smell)

5. You always I (smoke)

Xll. Fill in the blanks with the verbs in the Past Simple or
the Present Perfect (3, c.126, 128):
1. Mr Cooper ___ our neighbor for two years. (be)
2. She _ her employer yesterday. (not to call)
3. When William Evans 18 years old he his village in Wales
and
to London. (be, leave, go)
4. We our dinner already. (have)
5. 1 never to Italy before. (be)
6. Their son just . (return)

41



XIlL. Fill in the blanks with the verbs in the Past Perfect or
the Past Perfect Continuous (3, c. 130-131):
1. We ___ along the road for about 20 minutes when a car stopped and the
driver offered us a lift. (walk)

2.We __ our work by seven o clock last night. (finish)
3.When I arrived, Ann for me. (wait) She was rather nervous with me

because | was late and she for a very long time. (wait)
4. Tom was leaning against the wall, out of breath. He . (run)
5.1 tried to catch the boy but | couldn't. He very fast. (run)

XI1V. Fill in the blanks with the verb in the Future Perfect or the Future

Perfect Continuous (3, ¢. 130-131):
1. By the end of this week | __ seventeen days for my phone to be repaired.

(wait)

2. | ___ this book by tomorrow evening. (finish)

3. They the car by the end of the week. (repair)

4. By this time next week, on this book for a year. (work)

XV. Fill in the blanks with the verbs in the Past Simple or the Past
Continuous (3, c. 126-128):
1.We  outbecauseit . (notto go, rain)

2.You television when | you? (watch, phone)

3.What you at this time yesterday?

4.1 Helen at the party; she a really beautiful dress. (see, wear)
5.1 a plate last night. | the washing-up when it

out of my hand. (break, do, slip)

XVI. Fill in the blanks with the verbs in the Future Simple or the Future
Continuous (3, c. 127, 129):

1. Do you think you still __ here in three years’ time? (work)

2. 1don'tthink I him tonight. (see)

3. Sit down and fasten your seat belt. We in a few minutes. (take off)
4. In five years’ time a permanent space station the moon. (circle)

XVIIl. Put the following sentences into the past (3, c. 149-151):
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1. He understands that he will never forget her.
He understood that he never ___ her.

2. He thinks that | am playing chess.
He thought that I __ chess.

3. I know that her mother is a housewife.
| knew that her mother a housewife.

4. He says that his friend lived in Kyiv.
He said that his friend in Kyiv.

5. He tells me that his father was a teacher.
He told me that his father a teacher.

XVIIl. Put the following sentences into Indirect speech (3, c. 154-155, 5, c.
64, 66):

1. ”Will you be free tomorrow?” - Peter asked Dick.

2. “No, I have no time”, - she said.

3. He said: “I never eat meat.”

4. She said: “I was at the theatre last night.”
5. She said: “Give me a spoon and a fork, please.”
6. Tim said: “I'm sorry to disturb you, Betty.”
7.1 asked them: “Did you see him last evening?”

XIX. Put the verbs into the correct tenses in these Conditional sentences
(3, c.175-176):

1. If he knew that it was dangerous he . (not to come)

2. 1f 1 again I think that | would have succeeded. (try)

3.1 ___ ataxiif | had realized that it was such a long way. (take)

4. 1"d climb over the wall if there so much broken glass on top of it.
(not be)

5.1f you ten minutes earlier you would have got a seat. (arrive)

6. She had a headache; otherwise she with us. (come)

7. What would you do if somebody you a lot of money? (give)

XX. Choose the right forms of the Infinitive (3, c. 182-184):

1. | promise you your order will __ today. (send)

2. He is a slow worker! | could ___ the job twice in the time he is taken. (do)
3. I don't know what Mark is doing. He may ___in his room. (study)

4. Why ? (not to come)

5. Let me it for you. (do)

43



6. I'm happy to your birthday party. (invite)

XXI. Choose the right forms of the Gerund and the right pronouns (if
necessary) (3, c. 184-185):

1.I'mfond __ . (read)

2. The guests were let in without . (greet)

3. After it heregretted not ___ the opposite. (say, say)
4. When | the pupil answered very well. (ask)

5. She burst out . (cry)

6. Excuse my you at such a moment. (leave)

7. 1'm looking forward on holiday. (go)

8. They accuse him the house. (rob)

9. She insisted the truth. (tell)

XXIl. Choose the right forms of the Participle (3, c. 186-187):
1. There were bright stars in the sky. (shine)
2.She had her hair (do)
3. the exercise, he left it to be checked. (write)
4. When | asked him this question he seemed terribly . (surprise)
5. You can set your mind at ease, all well. (be)
6. The sun an hour before, it was getting darker. (sit)

PART Il

READING COMPREHENSION

a) Most systems today are 1) with CIP, and it is important to
keep the 2) of the cleaning system high. After 3) with
water, the first caustic that 4) back into the CIP system is
usually very dirty. The 5) Is high because of everything that is
transported with it, so that the load is not 6) by a conductivity
sensor. In this case optical 7) can supply the 8)
information to separate this first phase and drain it. The caustic
following this 9) , normally will stay in good condition for the
next cleaning cycles, and reuse will reduce caustic consumption and
10) additional activities like dirt separation from the caustic.

A. Procedure B.sensors C.cleaned D.avoid E. flushing
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F. detectable G. necessary H. performance

I. conductivity J. arrives

b) As a main component, a) quality itself has a huge impact on the
production and cleaning processes. Full water 2) with defined
conditioning is required in many cases. Measurement of ammonia,
especially in surface water, 3) , phosphate, and the chlorine level
is normally done inline. 4) , amperometric and physical systems
are used for these purposes. This ensures that changing 5) that
influence the supply of the raw water are recognized 6) :
Continuous inline 7) of water parameters improves quality for
sanitizers and detergents to work effectively. Monitoring of 8)
is also an important safety aspect as the pressure must be sufficient for
proper supply, but not too high as to cause water hammer 9) :
Buffer tanks are often 10) to ensure that the cleaning system is
not starved of water due to incoming water supply limitations.

A. Monitoring B.issues C. pressure D.needed E. water
F. immediately G. nitrate H. optical I. pretreatment J. qualities

¢) Handling wastewater is the next step and this also starts with 1) to
avoid waste. Optical 2) , PH, or conductivity sensors can be used to give a
very fast warning if the product or raw materials show up in the 3) . An
alarm 4) fast determination of the source thus avoiding losses. Often the
product has a different pH 5) then the cleaning agents. The temperature
often varies as well. To 6) a stable waste load, the first step is to combine
and 7) all waste streams that may neutralize the waste to some degree. If
the pH is still higher than the desired range, it is 8) to use CO2 by-
products or an acid to lower the pH. If pH is lower than the desire range, caustic
is added. Parameters other than pH, like biochemical oxygen 9) or
chemical oxygen demand, turbidity, and dissolved oxygen may also be
measured. It is important to 10) sensors specifically designed for use in
waste treatment applications as the sensors are made for harsh environments
rather than for hygienic cleaning.

A.allows B.sample C.demand D. possible E.density F. strategies

G.create H.level I.drain J. select
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PART Il

Put 5 questions to each text of the part II.

5. JITEPATYPA JIA BUBUEHHA JUCHUIIJITHA
OCHOBHA

. MeroanuHi BKa3iBKM N0 MPAKTHYHUX 3aHATh 3 aHTIINACHKOI MOBU IS
crynentiB IV poky naBuanusa (VI ta VIII cemectpu) CneuianbHOCTI:
«Exomnoris», «TexHonorii 3aXucTy HaBKOJIUIIIHHOTO CEPEIOBUILIA». Y KIaaay:
SAuxo I.b. Opeca: OEKY, 2021 p., 84 c.

. MeroauuHl BKa3iBKM [0 MPAKTHYHUX 3aHATh 3 AHIJIHCHKOI MOBHU st
ctyneHTiB IV poky neHHoi (GopmMu HaBYaHHS yCiX HaNpsIMIB IiATOTOBKH.
VYxnanadi: berr O.0., Kynenina O.}O. Oneca: OAEKY, 2021 p.,131c.

. Onpra Banirypa, Jlapuca JlaBugenko. Amnrimiiicbka MoBa. KomruiekcHa
MIJTOTOBKA J0 30BHINIHBOTO HE3AJIEKHOTO OIliHIOBaHHSA. BumanHs m’ste,
nonoBHeHe. Tepuominb: “ [Tinpyunuku 1 mocionuku”, 2020, 591 c.

. bouk H.A., Kotuii I'A., JlykesHoBa H.A. Y4eOHMK aHTIuiicKoro si3bika. B
2-x 4. M.: "Jlexont", K.: “Apuii”, 2007, 638 c., 510 c.
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